C:# Finding Angle between Two Points Name:

Calculate the angle of thecirclerelativeto (0,0). Answers
/A First find the slope. A N\
@) (YY) +(XoX) =m " 1.
(5-0)+(4-0) = 1.25 ®
2
’ 2,
Then find the arc tangent (aka. inverse / i
tangent) of the slope. J/ i
K » arctan(1.25) = 51.34° 4 - y 3.
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Finding Angle between Two Points Name: Answer Key
Calculatethe angle of thecirclerelativeto (0,0). Answers
ﬁ First find the slope. A \
@5 (YY) +(XoX) =m - 1. 45.00
' (5-0)+(4-0) = 1.25 o
A _ 21.80
Then find the arc tangent (aka. inverse S 2
tangent) of the slope. J/ |
\[ » arctan(1.25) = 51.34° 4 ’ YIE 37.87
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